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ENGLISH

Note: Q. No. 1 to 8. Fill in the blank | 5. Mohan wag AbSENL Loueeiserent® clast.
with suitable article : :
(A) on
1. Heisnot ................ honourable man, (B) to
(A} the ©) at
(B) a
HY from,
4C) an
(D) None of the abave. 6. He was accused ..ooooeverrrreeens murdef.'::
2. Gold is ................ precious metal. (4) on
(A) an
(B) the
(C) a
| () None of the above,
vernnenenes TE,
3. I have spent ................
gave me,
\
(A) an : |
(B) a . | ©to . ]
ot s HPExagms.in = - -]
(D) None of the above. . ©1'5 do |1 toq}ether I |
8. e did not agree . | -
AErrma - j, .

4. You must act ............... your teacher's
_ proposal.

JA) with




9. He is angry ,
(A) at
(B) to

(C) in

=

\D) upon,

10. You must apologize ........._

misconduect,
(A) for
(B) against
{C) with

(D) to.

Note : Q. No. 11 & 12, Find the correctly

spelt words:

11. (A) CEAGERS
(B) SCISSORS
(C) SEAJORS
(D) SCISORRS.

12. (A) NYMONIA
(B) NIMONIA
(B NIMONIYA

(D) PNEUMONIA.

Jul-2021 Series-B

.................. your conduct.

cersney YOUT

(3)

13.

14,

Note : Q. No, 13 & 14. In the following

questions choose the alternative
which best expresses the
meaning of the given word :

ABANDON
(A) HUGE
(B) DISASTER
(C) PUNISH
(D) LEAVE.

AMIABLE

(A) AGREEABLE -
(BY HELFFUL

(C) SUITABLE

B KIND HEARTED,

Note : Q. No. 15 & 186. In the following

questions choose the word
which expresses the opposite of
the given word :

15. ATTRACT

(A) DISAPPOINT
* (B) REVEAL

(C) REPEL

(D) DISOBEY.

16. BRUTAL

(A) HUMANE
(B) WILD
(C) GODLY

(Df MORAL,

|,Ht "ra. ﬂ'
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Nota :

18,

19,

Q. No. 17 to 19. Find the eorrect

|||||||||||||||||

(A) so you reap

(B) so should you reap
(@) so ehall you reap
(D) =0 you reaping.

rearessesensens BArth moves around the Sun,
&) An

(B) A

(C) The

(D) None of the above,

Name the part of the speech underlined
in the sentence :

“The Gita iz 8 gacred book of Hindus"®,
(A} Noun

(B) Article

AQ) Adjective

(D) Verb.

Note : Q. No. 20 to 25. Fill in the blanks

with the correct preposition to
make the sentence meaningful:

20. He must abide ............... his promise,

(A} upon

(B) with
(C) by

() to.

T

(4)

21.

23.

26.

He is not afrid ..o

(A} nt
}'E] from
(C) of

(D) with,

. Pleaze attend ......

(A) with
(B} from
(C) to

(D} for,

The dog barked
(A) to

(B) by

(C] from

(D) at.

They have ..........

(AT the
(B) an
(C) a

rereesess What I say.

~ees NBW CAT.

(D) None of the above.

Beware ............... pick pockets,

(A) with
(B from
(C) of
(D) to.
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(A
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(A) 7fefg
(B)" =y (By ¥ =T
(C) @ =
(C) =it } e
(D) ==FIY)
&+ YN 9 S
28, 'wEw W ows #2 L v F AT
(A) drrEe
(B) ¥
©) afw . .' a
(D) H=I o s
29. ‘3’ I H IEECA TE 4mﬂzﬁrﬁﬁfﬁm
HPExa;m% 1;1;1
(B) 1R )
- Let's do |’rt:~geltﬁ
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(B) T (B) =9
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16, & wm = =Ewm #
(A) E®a

(B fedm
(C) v
(D) T
1. ‘afsErew w0 @i
(4) e
(B) wWAd
© ™
(D) Tm
8. we fom wR @ ¥R #2
(A) =

(B) @
(C) wia

(D) ¥

39. "N I s wm oo w2
W A

ftﬁl W& 3
(B) Wgw ==
(C) fag am

(D) favrg =)

‘Jul-2021 Series-B

(6)

40. “wwuwa'[ﬁt:
{A:lmﬁqg'ﬂﬁ']
(B) $var s =i
A€) '

) HR ETEA
of "tz @ dam el @@ @ 0
TA-ga " g T TEET 87

(A) 3T FEHFR
(B) I9% 3@FHN
() ITIm wEER
(D) ®9%F IFAFRI

42. 'SUPERINTENDENT = f&=i 9 =0
Fed 87

(&) AT
(B) wigm
(C) #Agfa
(D) smferr)
43. "I w" s

(A)- T S Au g
(B) @@ ¥IT =3 =@

(C) qmm ™ = B
(D) 3M =X 3 =)

4. I TR B
A) T IE W AW T ¢
(B) # F W T wfgy
tﬂlﬁmaﬁrg

D) TR IR s,



. ! ¥ TEEE T g
(A) T
(B) B
© &m
(D) wam
6 'TE oy R
~(A) W
(B) Tz
(C) @
(D) Tgwal
47, = = e oww @ s #2
(A) PR
B) 3
(Cr st
(D) WrE

49.

50.

(C) woef
(D) 9TEEE



b

it

Il-undh:'l:in'lﬁt:-nlﬂ' wrn =4

A) 2y

51l.

(B) a?
C) 4a
(D 3

S W WRl® W WM 4:7:9:11 ¥ spm
q § it W am s
A} 36°, 84*, 108°, 132°
(B) 90°, 60°, 100°, 110°
(C) 30%, 70°, 90", 120°
(D = § % ¢

53 WK ¢ 15000, 3wl B

=Apek

() t 3200 :
(B) * 6000
(C) T 3600
(D) ¥4 | = = A

'.ﬂ
s4. #wET 12, 11, 25, 14, 13, 15, 14, 12, 17,
'T_- — -

‘14 T m wgEs g

f-,r..'-lﬁf__,ﬂ-
| Hk"

=

|

~ MATHEMATICS

BL The remainder an dividing x* = 8% *
3% + o by 1x — a) is :

(A) 2a

(B) af

{C) 4n

I 3,

52. The angles of o quﬂdﬁ[ﬁ.tﬂrﬂl are in the
ratio 3 : 7 - g 11, Find all the angles

By A 36% Bav, 108°, 1307

(B 80, 607, 100%, 110°

(C) 30°, 70 !,J*Ia"', 120

(D) Nane of t
t ;f G, with simple
n the rate of 8% p.a. has beon

deposited for the time of 3 years
3 Caleulate the ST earned,

(A} T 3200
(B) T G000
T 3600
(D} None of these.

()

54. Find the mode of following data

12, 11, 25, 14, 13, 15, 14, 12, 17, 14
(A) 12 ' J'{?ﬁ} ;Eljj -
(B) 14 (B} 14
(C) 13 (C) 13
(D) 10. Wp: 10.
Jul-2021 SeriesB 18
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;ﬂfmﬂﬂum-:ﬁ?

(A) TR
(B) st ®9 | ai
(C) &
(D) =

. T W AN TG e s B

(A qnmr’

(BY 3nprd

4 .
'I o
(C 3 nr

(D) 2=r®.

a? +b* —ab

57, —e———
=y aﬂ+h3

=7 w1 =wifaul

(A)

(B)

() - e

(B.-I—h}i

a +b%
H.C.F. iﬁlm‘tﬁt{
63, 42 3R 9) 2

(A) 21

(B) 7
©) 3
(D) 9.

(D)

38,

Jul-2021 Series-B

o5

(9)

66,

67.

58.

How many parallel tangents can a circle

have ?

(A) Four

(B) Infinite

(C) One

(D) Two.

Total surface area of solid hemisphere is:
(A)

(B)
(C)

(D)

(A)

(B)

()
(D) —r=te

a? + b?

H.C.F. of 63, 42 and 91 will be
(A) 21

(By 7

(C) 3

(D) 9.

P.T.0O



59. The next term of this AP, - 5, = 1 3
59, wWE WEL .

Y Y -
Y ) 1

“B -1 1 f swen W T

5 1, 3. T win (A) 4

Al 4
; (B) 5
B} 5

@ 0 (cC) o

(D) 11, l (D) 11

60, TROTIRH TN % 2 AL . ' 60, According to Pythagoras theorem

122 4 ...o= 132 122 4 ... o= 152

(A) 52 VT A B2

(B} 112 (B) 11

(C) 1% (C) 12

(D) 254, (D) 252

61. [':Ir'-_"]'1'5-"‘--:':l=urII N WA WA it 61. Evaluate (0, Uﬂ?ﬂﬂf‘ﬁ

(A) 0,007 - @) 0.007

(B) 0.00 : TP ®) o090

(C) 0.0059 Q) 0,000

(D) 0.0027 (D) 0.0027.

6. TRE 3 WE TV 2,000 = § =y wed

62. Ramesh sold a TV set for .l'i.s. 2,100. On
W OIR 40% WM LI TV FT wAmey

selling this TV he gained a profit of 407

FE wifaT 1 Find the cost price of TV set.
(A) ¥ 2,140 “ | A Re 2,140 P
(B) 2 2,080 {B) Rs, 2,060
(©) 71,500 1 © Rs 1500
(D) 7 1,000. [ 1 (D) Rs.1,000.

63. mmﬂx+4r E?I"-IT:-r-:.r 4 % | 63, Solution of a linear equation
B B: , 2x+4y =8 and x + y = 4 will be :
(A) (4, 0) (A) (4, O)

(B) (0, 4) 1" ® w, e

(C) (2, 4) (C) (2, 4)

(D) (1, 4). (D) (1, 4).
l"‘hlrﬂﬂﬂl Series—-B (10)
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W & ME - hx A
g . te=0 & wa | 64 Rontsnfax2+bx+t=ﬂarerealand
“ =P o o, different :
lr.i” D=0 (A) pD=2~0
D <0 B) D<0
(D) T | wE TE (D) None of these.
. X T . fasgsil &1 sd 2 : 3 % | 65 The ratio betweel the sides of two similar
SRR '::mi‘i ™ e & duwen & triangles ig 2 : 3 then the ratio between
- their areas will be:
(A) 9:4 A) 9: 4
(B) 4:9 (B) 4:9
(C) 8: 21 () 8:21
(D) 4: 16, (D) 4: 16.
66. TEm (11111)% =7 66. Find the square; (11111)¢ =7
(A) 123542321 (A) 123542321

(B) 123453212 4:% 1234532128' |n
(C) 135424111 Pp{c} és%x!:tlnl :
(D) 123454321, -

(D) 123454321 )
§1. Y A frds L #fsw 4% | 67. Find the slant hﬂigh:t:lﬁf a ébn;wl:;ﬂ: w
e T 4 em A =d 6 cm 4] height is 4 ecm and diameter is 6 cm.
(A) 5 em (A) 5 cm | |
(B) 10 cm '*- {B) 10 em
© 25 3 Lo
D) ¥ @ FE : (D) None of these,

Jul-2021 Series-B \ (11) |
| P.T. 0.



68. WA @ wHAQ

31728 + J784 +10 _9
A1 - ¥343

(A) 20
(B) 25
(Cy 30
(D) 36.

69. % wdw fore wft werd A W A
T feret sem o 900 & w W WAET

e A FEe
(A) wuEE

(B) = B o

R e DR

© wds | 1, & -

- LA =

(D) 3Taa We ) —

70. uff fwdt AP. W uUW T a = 17,
d=582n="7% @ a, 3@ Hifw0:

68. Find the valye of
1728 + VTR1 410 _,
vBl-¥3a3
(A) 20
(B) 25
(C) 30
(D) 36.

69. A quadrilateral whose gides are equal
and its disgonnls bisect each other at
00° 15 colled .......ooneeeee

(A) Trapezium
“177(B) Square

(C) Rhombus

(D) Rectangle

70. Inan AP. ifa=17T,d=5and n =7

ﬂ'lﬂnﬁllﬂ. .
(A) 47 _.],_F oy 7 @ 47
" (B) 29 =z )
ek o = 17(7FI45 (© 42
(D} 37. = ¥

71. = 14 em ¥ 50 5 om AW TF

ity

(D) 37.

71. Find curved surface area of eylinder of
radiue 5 cm and height 14 cm.

t A) 8B em?
(A) 88 cm? _ J{L A) 85 em
(B) 140 em? I:‘L-I' l!;]l 140 em? .
STl i Rl e ~
(C) 70 em? \ 1.-; ] 4 C} 70 em? y
- 1 A
(D) 440 em?, ':‘51"-"" . (D) 440 cm2. . 5 .
. Jul-2021 Series—B (12) b :
. " “V i
-



B) 1
(C) w«

D) ¥ § wd

1. 12 cosec? A - 12 cot? A wiray .

(A) 1
(B) 6
©) 12

(D) 0.
—

4. 0x-6x-3 % TRETE &
(A) Ox-3)(x+ 1)
(B) (x=-38)(x+9
(C) (9x + 3) (x + 1)
(D) (9x + 3) (x - 1).
75. fags A0, 0) 3R B(36,
#1 it 9 wifa
(A) 19 H&FF
(B) 41 WEA®
(C)- ]‘}f LIEE]D
(D) 51 WEH| ‘ I'

Jul-2021 Series-B

A

' g T4,

E"*’?JJ'

15) ® W= | 45

(13)

72,

13,

In terms of Probability,

(C) w

(D) None of these.

The value of 12 cosec? A — 12 cot® A is:
(A 1

(B) 6

(C) 12

(D) 0.

The factors of 9x% — 6x —'3 are :
(A) O —-3)(x + 1)

LA TR B -8 x4 9)

(C) Ox+3N(x+1
(D) (9x.+ 3) (x - 1).

» Find the distance between the poi;n,ts

A0, 0) and E{EE. 16) :
(A) 19 units

(B) 41 units

(C) 39 units

(D) 51 units.




6. TR W FoH F AAT # F@ | 76. Who Preside gver the meeting® of RAJY?
7 Sabha ?
(A) T W) Prime Misitater
(B) Iqurezfd (B) Vice-President
(G s (C) President
(D) w9 ‘ (D) Chairman.

77. TAURUE, # YEAa fEw ad gl 77. NSS started in the year

(A) 1959 (A) 1959
(B) 1976 (B) 1976
(C) 1969 .

(C) 1969

(D) 2014.

78 qd W fewl R o
N EI #2

(A) D
' (B) C
(C) B (C) B
+ (D) A. (D) A.
_ ”"-ﬁ!? ERY H13T (WHO) F1 H&Ied | 79, Where is the Headquarter of Worlg
%o feom #7 Health Organisation (WHQ) 2
(A) | (A) Paris
(B) ferar (B) Geneva
(©) e (C) Manila
(D) =& ﬁm; - (D) New Delhi.

Jﬁ:‘l—iﬁm Series—B 'i | ‘
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§l. WUN WM sy
v m an

(A) 1974

HWiYE wa i

(B) 1975
(C) 1976
(D) 1977,

A 9= 9 Faa o7

(A) e
(B) =ef=n
(C) =iwiaa
(D) ¥m&
g3, WA & ®=ra dw wA-A 87
(A) ®z o5 amF §fEw
(B) 7@ 4%
() fisd 9% s ¥EW
(D) o= AvEE AT

g4. widta GfEuM w1 FE-F 9 Eifes
sl 8§ wafya 272

(A) Hm-I
@) w11
(C) Wm-II
(D) WM-IV.

Jul-2021 Series—B

80.

51.

82.

(15)

Who wrote “Ramchartmanas”?

{A) Ravi Das
(B) Kabir Das
(C) Tulsi Das
(D) Valmiki.

The First Indian Satellite Arvabhatta was
launched in;

(A) 1974
(B) 1975
(C) 1976
(D) 19%7.

What was the name of the Space Shuttle
that landed man on the moon ?

(A) Apello
(B} Challenger
(C) Columbia

(D) Eagle.

. Which is the Central Bank of India ?

(A) State Bank of India
(B) Canara Bank

(C) Reserve Bank of India
(D) Punjab National Bank.

Which Part of the Indian Constitution
is related to Fundamental Rights?

(A) Part-1
(B) Part-II
(C) Part-II1
(D) Part-IV.



g5, T g fer W varen fRe WA

(D) HAR
g6 o fowm wa wr W #7
(A) 5 ™
(B) 1§ sl
(€C) § e
Dy 5 frvrem)

§7. wm o ‘== g afam’ ww 3w

Ean?
(A) 2016
(B) 2015
(C) 2014
(D) 1914.
83, ‘frdiz’ %1 ywom fem tm @ gl
(A) vz
(B) WA
(C) wredferm
(D) sfeen
$0. THM Aw W0 fewd dwd 8
(A) Ahfom
(B) 9r9TH
(C) wrErsan
(D) ¥ # wif T

Jul-2021 Series-B \ |

(16)

B5.

86,

87,

Who established Ram Krishan Migsion?
(A} Bwami Dayanand

(B) Swami Vivekananda

(C) Swami Shradanand

(D) Kumar Swami.

When Teacher's Day i celebrated?
(A) 5 April

(B) 15 Junuary

(C) 6 November

(D) § September.

In India ‘Swachh Bharat Abhiyan’
launched in the YEAr ...

(A) 2016

(B) 2016

(C) 2014

(D) 1914.

‘Cricket’ is originated in which Country?
(A} England

(B) India

(C) Australia

(D) Sri Lanka.

Who spreads the disease called Corona?
(A) Bacterin

(B) Virus

(C) Protozoa

(D) None of these,



90. 68 T ) foem ‘=i’ % wm A | oo, In Tibbet which river is known as
Eic e o e Tsangpe !
(A) WETR (A) Brahmputra
(B) et (B) Godavari
(C) F () Jamuna
(D) e (D) Teesta.
91. ‘=t m dten' Prm s w e #7 | 91 ‘Lavi Fair' is held at which place?
(A) H|UEA (A) Sarahan
(B) W (B) Mandi
(C) TR (C) Rampur
(D) I {D} Sujanpur.
g2, ‘yeen Wi fEd wEm #2 42, ‘Inderhar Pass’ connects:
(A) FFE 9 FE (A) Eullu and Kangra
(B) W= A HOTE (B) Chamba and Kangra
(c) fe=in & fermen (C) Kinnour and Shimla
(D) £ 9 TR (D) Kullu and Lahaul
93, ‘TR GARET: T= Ui W 7 93. 'Kandrour Bridge' is built on which river?
(A) (A) Ravi
(B) =g (B} Neugal
(C) =4 (C) Vyas
(D) FagAl (D) Satluj.

Jul-2021 Series-B (17) P.T.O.



04, fs. W wm fon wd foum &:
(A) sehemen
(B) wmo

(Cy Wt
(D) TmEm

9s. fowras gy o wyl wud wm =TT | 96,

e ¥ Y g7
(A) 1994
(B) 1999
(C) 2004

(D) 2008

96. fromam wdw W ‘Syv owmE' wme W 87 | 96

(A) fopen
(B) @t
(C) wATeh
(D) T

97. frras w2w o oftw Ay %t feast o | 97. How many seats of Lok Sabha is

#2

(A 4
(B) 3
(C) 68

(D 5

dJ Hl‘ME&ﬂﬂﬂ-—B

04.

H.P. Board of School Edueation is located
at:

(A} Dharamshala
(B) BKangra

(C) Hamirpur
(D) Shimla.

Elﬂi'!lm Jayanti Oram Swargjgar Yojna
started in Himachal in ...

(A) 1964
(B) 1969
(C) 2004
(D) 2008.

‘Nehru Kund' in Himuchal Pradesh ie
at:

{A) Shimla
(B) Tatapani
(C) Manali
(D) Renuka.

Himachal Pradesh 7
(A) 4
(B) 3
(C) 68

(D) 5.

(18)




gs. 'WETE! W'
™R g AT W | 98. Who was popularly known as ‘Pahari

on?
Gandhi’ 7
(A) =) T
(A) Baba Halku
al T (B) Sahil Verma
(C) == =iyt (C) Baba Kanshi Ram
(D) Wewen s (D) Mahatma Gandhi.
99, fomen wvod sEm fem o w #7 99. Shimla Airport is located at which place?
(A) FATEZ h ) Kumarhatti
pexan |,$ L
(B) FeETEZA Jubbarhatti
(C) T (C) Rampur
(D) ez (D) Rohru,
100. =T T A it e e 100. Who built Lakshmi Narayan Temple of
Chamba?
(A) fa®
T (A) Bhuri Singh
(B) T (B) Sahil Varman
(C) #E FHA (C) Meru Varman

(D) |iEd aHAl (D) Mohan Varman.
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